Thank you very much for your help! Yes, I am going to have more generic terms but I think I can take care of this. What I need thought is  the term  200490 and 200510 the ones with the styp_code, level_code and styp_code data. I don’t need the 200490 and the 200510… 
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Here is the query: 

SELECT 
Slrrasg_pidm, 

slrrasg_term_code,
slrrasg_rrcd_code,
NULL                   stst_code,
NULL                    levl_code,
NULL                    styp_code 

--null
FROM 

slrrasg 

WHERE 
slrrasg_term_code IN (200490, 200510)
AND slrrasg_pidm = 139203
UNION
SELECT
sgbstdn_pidm,
sgbstdn_term_code_eff,
'   ',
sgbstdn_stst_code,
sgbstdn_levl_code ,
sgbstdn_styp_code 

FROM sgbstdn

 WHERE sgbstdn_term_code_eff IN (SELECT slrrasg_term_code-100
 FROM slrrasg WHERE
  sgbstdn_pidm =  139203
 AND  slrrasg_term_code IN (200490, 200510));

In another words I need to insert something like this in the table: 

	139203
	200490
	   
	AS
	UG
	C

	139203
	200510
	   
	AS
	UG
	C


Here is the data in the tables: 

For this pidm (primary key). I have the following records in the SLRRASG table:

	SLRRASG_PIDM
	SLRRASG_BLDG_CODE
	SLRRASG_ROOM_NUMBER
	SLRRASG_TERM_CODE
	SLRRASG_RRCD_CODE
	SLRRASG_BEGIN_DATE

	139203
	ADD
	103
	200490
	RCOM
	09/02/2004

	139203
	ADD
	103
	200510
	RCOM
	01/24/2005

	139203
	BLA
	001
	200390
	RCOM
	09/03/2003

	139203
	BLA
	001
	200410
	RCOM
	01/25/2004

	139203
	HRK
	101
	200690
	RCOM
	08/31/2006

	139203
	RIV
	11
	200590
	RCOM
	09/01/2005


And I have the following records in the SGBSTDN table. 

	SGBSTDN_PIDM
	SGBSTDN_TERM_CODE_EFF
	SGBSTDN_STST_CODE
	SGBSTDN_LEVL_CODE
	SGBSTDN_STYP_CODE
	SGBSTDN_TERM_CODE_MATRIC

	139203
	200390
	AS
	UG
	C
	200390

	139203
	200410
	AS
	UG
	C
	200390

	139203
	200590
	DW
	UG
	C
	200390

	139203
	200610
	IS
	UG
	C
	200390

	139203
	200660
	AS
	UG
	C
	200390

	139203
	200690
	AS
	UG
	E
	200390

	139203
	200710
	IS
	UG
	C
	200390


So far I have been able to insert the following records in my custom table. This data is coming from the sgbstdn table  

	SZSLIFE_PIDM
	SZSLIFE_SLRRASG_TERM_CODE
	SZSLIFE_STUDENT_STATUS_CODE
	SZSLIFE_STUDENT_STATUS_DESC
	SZSLIFE_STUDENT_TYPE_CODE
	SZSLIFE_STUDENT_TYPE_DESC
	SZSLIFE_STUDENT_LEVEL_CODE
	SZSLIFE_STUDENT_LEVEL_DESC

	139203
	200390
	AS
	Active
	C
	Continuing
	UG
	Undergraduate

	139203
	200410
	AS
	Active
	C
	Continuing
	UG
	Undergraduate

	139203
	200590
	DW
	Directed to Withdraw
	C
	Continuing
	UG
	Undergraduate

	139203
	200610
	IS
	Inactive
	C
	Continuing
	UG
	Undergraduate

	139203
	200660
	AS
	Active
	C
	Continuing
	UG
	Undergraduate

	139203
	200690
	AS
	Active
	E
	Readmit/Re-entry
	UG
	Undergraduate

	139203
	200710
	IS
	Inactive
	C
	Continuing
	UG
	Undergraduate


